Algebra II Notes
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Graph these fanilies of functions. All functions in #1 (etc) should be graphed on the same coordinate plane.
Fill in the blank for the second graph of each set. USE A MINIMUM OF 5 POINTS TO GRAPHI
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FOR: y=(x+2)° -1
Axis of symmetry is K= —2

The vertex is ("2, ‘fi)
[- 3,0)

The roots are; ___X= % , X= | (—1,0)

Domain:{" %, ) Range: I-_"’sg OC)

Increase: ([~ %, w,,z Decrease: [~ &2, "7’)
<D

y-intercept: Mlj 23

Nature of roots: 2 Red Ratlmad Roots
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FOR: y=2(x-1)*+3

Axis of symmetry is X=

The vertex is “; ) .
s e

The roots are: imvl-qsnm? ( Jruth X-Mls)
Range: E, o)
Decrease: {— ¢, | )

Domain: {- 00, o)

(U, o

Increase: ;

y-intercept: _ (0, 5)

Nature of roots; 2 | mﬁj?n«,n;, roets
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FOR: y=-3(x+2)°

Axis of symmetryis __ X = "2

The vertex is Ql_f{_)

The roots are: _("%,0) _ X= ~ 2
Domain: (=<, °2) Range: (— %, o]
Increase: {~ o2 ;'7-) Decrease: (" 2, o)

y-intercept: _(0, ~| 2)

Nature of roots: | Red Rodtonal Doublc Root
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FOR: _vzlx!_z
2

Axis of symmetry is __ %= 2 (uj —mg's)
The vertex is _(0, —2),

The roots are: X=#, X=-L

Domain: [~ 22, %) Range: [‘zt °°)

Increase: (90, 00) peeere ) o9, 0)

y-intercept: __ (0, ~%)

Nature of roots: 2 Rad  Raherud Koot
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FOR: y=-x*-1

Axis of symmetryis __X = O

The vertex is (0! -/ )

2 imaginary (S below)

The roots are:

Domain:C % 02) Range: (- S, — l]
Increase: (22, )  Decrease: () 09)
y-intercept: (0¢ 1)

Nature of roots:

=2 M;\Aﬁ;nﬂ.r:’( (Cc‘y'uja'ﬂf))
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FOR: y=2(x+4) -5

Axis of symmetryis__ X~ ~ of

The vertex is _(_"‘_4._".5)

The roots are: _ (4 e lm{)

Domain_ %%, %) Range: E‘ 5 00)
Increase: 4,99)  Decrease: (——DO,__ t)
y-intercept: Azo = y= 21

Nature of roots: 2 Read  Lrratienad
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FOR: y=-3x"-6 . \ 5
r'
Axis of symmetry is __X= o

The vertex is (9, '”(9)

The roots are: | mﬂff i ﬂ“fjf

Domain: (0, 99) Range: (~0o —6 J

Increase: (_o°g o)

Decrease: (0 ) 0o)

y-intercept: (0, =)

Nature of roots: _ Imeg 4ty roots
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FOR: y= —%(x+3)2

Axis of symmetryis __ k¥ = — 3

The vertex is £"3, 0.)

Therootsare: &k = ~ 3

Domain: (-001 o) Range: ﬁy_o J

Increase: (-wg ~3) Decrease:("-a,o")

y-intercept: (0, ~ 6)

Nature of roots: _{ Keel Rat !l Dewdile Ppe;




